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Q1

Q3

LM-B

SECTION-1 | GENERALAPTITUDE TEST | 25 QUESTIONS

Select the number that can replace the
question mark (7) in the following series.

51,44,49,42, 47,40, 45,38, 7
(A) 31
(B) 33
(C) 43
(D) 45

The ages of two friends Ramesh and Rajesh
are in the ratioof 4 : 3.

Which of the below pieces of information is

additionally required to answer what the

average age of Ramesh and Rajesh is?

(A) Ramesh is |10 years older than Radha
who is the younger sister of Rajesh.

(B) The age difference between Ramesh's
father and Rajesh’s mother is 8 years.

(C) 6 years ago, the ratio of the ages of
Ramesh and Rajesh was 3 : 2.

(D) Ramesh was |2 years old when Rajesh
was in senior KG in his school.

Five friends A, B, C, D and E are seated in
a row and are watching a movie. Aand D
are scated at the extreme ends while B is
seated exactly in the middle.

What additional information is required to

answer who is seated nextto A?

(A) Bisseated immediately nextto bothC
and E.

{B) Cisnot seated nextto D.

(C) C isseated nextto B.

(D) B isseated nextio E.

QI

Q2

Q3

a8 W g4 o e & g sjaer §
wwfae (7) @ witreenfa v awd 2

51,44, 49, 42, 47, 40, 45, 38, ?
(A) 31
B) 33
(C) 43
(D) 45

g fE v R T A g 4:3@
T A 2

Ae @ g I W e g9 uE w

It 21 & fov afoies wu 9 snaws

B, & v afr worw o afvwa anyg @

#

(A) ver, wEm | 10ad a1 & o wo
# BIEY 981 81

(B) e & fiar afiv wotw &t A & d
a1 & IR s &

(C) 63 gd, Ty 3fix wore & Ay &1
9T 3:2971

(D) o Yot 3w fenea 4 @faw
ol # o, o e 12 9d & )

e firr A.B,C,D3fw Eve ufaa 4 @8
# alr 5 <9 w8 81 AalR D aiftm
BRIy ad € oafs B da o dar &7

¥ 9T o4 & forg e afaRam s

&) raradal &, fF AS ava # @ dor

#?

(A) B,C 3w E=SFt & &% ama # Qa1
gl

(B) C,D® e # =18 o1 &)

(C) C.B® a7t & ¥o1 &

(D) B.E® a7 A 4a1 &1
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Q4 Aisthebrotherof Bandsonof CandD.E =~ Q4 A,BH #E 8 AR CR DHT AT | E,
is the husband of B and father of F. B& uft ok Fa& fomm &)

What additional information is required to E,E I8 O o & fou #F W afRe
answer how C is related to A? ) AFEN o AEEeT e, fF CHEAD
(A) B isthe only daughter of C and D. TRT T Her 27

(B) D isthe maternal grandfather of F. (A) B,C 3R Dt sderd 381 21

(C) F isthe only grandson of C. (B) D,F& A1 €|

(D) AisthesonofC. (C) F,C &1 Sheiien ural & |

(D) A,C I deT &)

Q5 Inacertain coded language, INCOME is Q5 vus fAftad we wmr #, INCOME i

written as HPENOG. How will be SAVING HPENOG & w1 # foar wmar )
written as in the same language? SAVING @& S¥I @E 91 4 59 w9 o
(A) RCVHPG ferar smem?
(B) RXCHIP (A) RCVHPG
(C) RCXHPI (B) RXCHIP
(D) RCXHPG (C) RCXHPI

(D) RCXHPG

Q6 Ifinacoded language MIND is written as Q6 ufe va T T § MIND &1 IMDN &

IMDN, how will be GAME written as in the wu # forar @ &, o GAME &1 a¥
same language? Fie w4 e wu H fern wmem?
(A) GEMA (A) GEMA

(B) MEGA (B) MEGA

(C) AGEM (C) AGEM

(D) EGAM (D) EGAM

LM-B 4 SERIES-B-E




Q7

Q8

In the given series, one number is wrong.

Select the wrong number.

18, 22, 44, 48, 52, 100, 200
(A) 48
(B) 52
(C) 100
(D) 200

Select the number that will come next in the

following series.

3,4, 13,38, 87, 168, ?
(A) 199
(B) 289
(C) 203
D) 259

If XAY implies X7 +¥?

XBY implies X?- }?

XCY implies (X + Y )

XDY implies (X — ¥ )* then,
Which ofthe following is TRUE?

(A) (7C3)-(6D6)=~100
(B) (3C2)D(5B5)=624
(C) (3A2)B(5C4)=88
(D) 216D256 =-1600

LM-B

Q7

Q8

SO3447TH

Q9

& 1% H@en §, @ wen Tew 2w
e WEAT g |

18, 22, 44, 48, 52, 100, 200
(A) 48
(B) 52
(C) 100
(D) 200

a8 WA g ol fretaiaa s § s
AT |

3,4, 13,38, 87, 168, ?
(A) 199
(B) 289
(©) 203
(D) 259

afe XAY &7 aead X2 +y? &
XBY &7 oeqd X2~ Y@
XCY®Tangd (X + ¥)? &
XDY &t areqd (X - ¥Y)? &,

dr frfefa # @ @ o &7

(A) (7C3)~(6D6)=—100
(B) (3C2)D(5BS)=624
(C) (3A2)B(5C4)=88
(D) 216D256=-1600
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Q10

Q11

LM-B

If P + ) means that P is the sister of Q,
P+ Q) means that P is the mother of Q and

P = () means that P is the brother of Q,
which of the following means A is the aunt of

D?

(A) A+ ExD
(B F+A+E=xD
(C) A+B+=CxD

D) AxE+BxC=+D

Select the option that is related to the third

term in the same way as the second term is

related to the first term.

Pressure : Pascal :;: Current ; 7

(A) Volte
(B) Joule
(C) Watt

(D) Ampere

Q10 =R P+Qa aef & fs PQaN a8a &,

P+Q@m el & 6 PQ & #f & afm

PxQarad 2R PQ@& wid & o
Freiferfan ¥ @ e ot & 5 A, D@
AT /A /TS /T / 9T/ AR 27

(A) A«ExD
(B F+A+Ex=xD
(C) A+B+CxD

(D) AxE+B=C+D

- Qll 7% fiwe g ot R g & 3% 94l

W waf 2, e ew gE e e

e W Haled 2

o : U ¢ fagge—um : ?
(A) T

(B) ue

(C) aEe
(D) i
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Q13

Read the given statement and conclusions

carcfully and select which of the conclusions
logically follow(s) from the statement.

Statement:

The changing trends in Indian cinema has
witnessed big budget star powered movies
doing poor business and a lot of small budget
content driven movies earning good
business.

Coneclusions:

() The low budget movies are huge hits
due to their story content irrespective
of the star cast.

(i) The big budget movies are flop at box
office for casting big stars.

(A) Only conclusion (i) follows.

(B) Only conclusion (ii) follows,

(C) Both, conclusions (i) and (ii) follow.
(D) Neither conclusions (i) nor (ii) follow.

Village P is to the east of village Q.
Village R is to the north of village P.
Village S is to the west of village R.
Village S is towards which direction of
village P?

(A) South-cast
(B) South-west
(C) North-west
(D) North-east

LM-B

Q12

QI3

Ry 1 T A Pl @ am 9 W@
m Mg &% 5 39 @1 /9 feed
s w9 9 FUT & YTV HEE
R/ & B

e

e e § gead @R gq ara @
mardl @ ¥ # & fhant (monen)) & a8
aole @ fFel e sREr @ o #
i fawg—avq amfRa e ave & &
fret afear AR o ) £

e

() Foort (Foerl) & e & IS
AEW 1 90 8¢ AUl S wenf B
FRY B2 guie 9 e g ave
&

(i) @@ R (SR & 909 & TR
a8 qure I e dfe siffthe w
ITEA T

(A) @aet Fepd (i) srgeeor e &)

(B) ®aet Freed (ji) srgewor @ven 8|

(C) =r, femed (i) AR (i) argemer vl
gl

(D) = o Frewd (i) 7 & (ii) arTeor &van

1““ i

M P TaQTH @ &) g R, A P
IR W %) 79 S, 7@ R uf¥=am & &
it S, g P& fae fem & o &7

(A) aféror — ud
(B) wlémr — gftem
(C) I — gftam
(D) ¥R — @@
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Ql4

Q15

LM-B

Select the option that is related to figure (C)
in the same way as figure (B) is related to
figure (A).

n-b_#p::oo_?
# A4 & o
(A) ic)

() :

(B)

(€)

oo los oo
00 |IO&#] |0O] ©

(D)

-
O O

Identify the odd word.

Square, Triangle, Rhombus, Sphere,

Parallelogram, Rectangle, Circle, Pentagon,

Hexagon
(A) Triangle
(B) Sphere
(C) Circle
(D) Hexagon

Q14 48 faweq g+, fraa angfa (C) & |

Q15

St T €1 waw 2, S el (B) @1

G (A) & |™ 8|
Al I* pl..[O 2],
e N [adlfe o
2 0
Y18 O
O %
(B) ﬁ 0
“l8 ©
¢ 0O
“ls_o
fyn wreg 9 gEw W)

a7, Fonqw, AHaS, e, |
A, AT, T, T, ST
(A) Frqer
(B) e

(C) g
(D) weHol
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Q16 The list given below contains figures which

have something in common.

Cylinder, Cuboid, Sphere, Prism, Pyramid,
Cube

From the below given options, identify the

one that can be classified as part of this list.

(A) Rhombus
(B) Cone

(C) Square

(D) Parallelogram

Q17 Study the Venn diagram given below and
identify which option is correct with

reference to the diagram.

Acroplane

(A) Some birds are not aeroplane.
(B) All aeroplanes are birds.
(C) Allbirdscan fly.

(D) Some acroplanes can fly.

LM-B

Q16 @ ¢ A ¢ gt whnfer
? forrl e swafrsar () 8

44, ua™, e, fiem, finfite, w=

A1 fav v Rl 8 9 9w Aaw &
qEar &Y O 3| gl @ v @ Wy i
arfiga faam o w8

(A) EapA

(B) n1®
(C) =

(D) TR S

Q17 +ra & v 49 s &1 gy &1 v
gEar 6 &9 a1 ey ama @ we ¥
el B

argan-

(A) ©9 gt agaE 78 &)
(B) ¥ argaE ueh &)

(C) &l ueft 93 wa &)
(D) %Y I IS Had &)
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Q18 Two positions of a dice are shown below. If Q18 TF gy o 21 i i goid nd &

number 6 is exactly opposite to number 3, afe wwm 6, Wem 3 & Hiw fAoda &, o
then which number is exactly opposite to den 2 ae RAude @ W wen
number 27 e

HOY E

.{ 4 ﬁ

(A) 1 (A) 1
(B) 4 (B) 4
(C) 5 (C) 5
(D) 6 (D) 6

Q19 Inthe figure depicted below, if the pentagon Q19w Toi wg wfa A, aft gepw &

is rotated anti-clockwise 270° once and the UH aR qEEd 270° gErEn anan 8 iR
triangle is rotated clockwise 270° twice what Prpa &1 &1 ar efdorast 270° g
will be the final figure ? e g, @ aftenfae ampfay d g

)

LM-B

(A)

(B)

(€)

(D)

B® 8 ©®

1

(A)

(B)

(C)

()

B®8®
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Q20 Select the option that is related to the third Q20 @E Rwey ¥ frae fat v 3 wm

word in the same way as the second word
is related to the first word.

Kitchen : Refrigerator :: Bathroom ; 7
(A) Television

(B) Geyser

(C) Microwave Oven

(D) Sewing Machine

In a certain coded language, ifBRAKES is
wrilten as TAGPNX and CLUTCH is
written as IBEJWR, then how will be the
word WHEELS written as in that language?
(A) TVMGFD

(B) TVYNEHB

(C) XRJJHB

(D) TVNFHRB

Inacertain coded language, iFRAMESH is
written as TBNFTJ and MITALI is written
as NJVBNJ, then how will be the word
RANBIR written as in that language?

(A) SBOCIS

(B) SCODIT

(C) TBPDIT

(D) TBPCKS

Deepika is the mother-in-law of Privanka
whose husband is the father-in-law of the
wife of Ranbir. Salman is the only son of the
husband of Deepika while Katrina is the only
daughter of the mother of Ranbir. How is
Salman related 1o Katrina?

{A) Husband

(B) Brother

(C) Father
(D) Grandfather

LM-B

oLy

ol & @ way 8 O T e @
UECl W& @ Wy &)

g - wios -« = ?
(A) Teitfaar

(B) 9w Wrer-wra (o)
(C) wmgmia g

(D) faard wdfa

feeit fftaa we s 4, afd BRAKES
®1 TAGPNX @ wu # forar omem & afw
CLUTCH @1 IBEJWR @& ®q # foran
o 8, @ & WHEELS &7 ffe w9 4
ferear ammo?

(A) TVMGFD

(B) TVNEHB

(C) XRIJHB

(D) TVNFHB

fae Pf¥aa g s 4 afe RAMESH
@1 TBNFT) & 9 4 foen omen 2 afw
MITALI &1 NJVBNJ & wa # ferar sren
g, T % RANBIR %! fiFe &y 9 feran
LS

(A) SBOCIS

(B) SCODIT

(C) TBPDIT

(D) TBPCKS

aiftam, fier @ wra & e ufa, e
@ ool @ R & | e, e @ oy
&1 gHcitan 421 @ oafe e, il
A A gHA A B wAWE &
e A @ Hay 8?

(A) ufdy

(B) Wi

(C) faam

(D) 1@
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Q24

Q25

Read the given statements and conclusions
carefully. Assuming that the information given
in the statements is true, even il it appears to
be at variance with commonly known facts,
decide which of the given conclusions
logically follow(s) from the statements.

Statements:

I. Some lions are cats.

2. Allcats are tigers.

3. Notiger is an clephant.
4. Allelephants are rabbits.

Conclusions:

) Sometigersare lions.

I[) Noelephantisalion

1) Some cats are elephants.
1V) Some tigers are cats.

(A) Only conclusion Il follows.

(B) Only conclusions | and 111 follow.
(C) Onlyconclusions Il and IV follow.
(D) Only conclusions | and [V follow.

Select the option that can replace the
question mark (7) in the following series.

SUPER, PSRUE, RPESU, ERUPS, 7,
SUPER

(A) PSRUE

(B) UESRP

(C) EURSP

(D) USERP

LM-B 12

Q24

Q25

faw v St sl Frepel & am 9 9|
aE we gy @ st 3 @) wd s
Hed ®, W § U8 e 9 ol 9
e & 7t W &, a7 fvlg | @& Ry
e Pyt § 9 #19 w1/ 9 Pt afes
WU W BYAT BT AR B 8 /B
4

e

I, wo e, fafeadl €

2, wi fafeeddl, ama )

3, @i W@ am, srh T #)
3. it B, W g

foyepd:

I #v 9w, e g

iy @ +f end, Rig 76 &)
iy ww ffead, seh &)
IV) &9 amg, ffeedl 21

(A) g Fyemd 11 3w ovar 21

(B) @ad fFrasd | 3R 1] SFER0T SR
4

(C) @ae s 11 3R 1V e F%
B

(D) Bact el | afir 1V s s
£l

g% fawen g o | € w g A
ueifaes (7) & wiawenfla o aear 21

SUPER, PSRUE, RPESU, ERUPS, ?,
SUPER

(A) PSRUE

(B) UESRP

(C) EURSP

(D) USERP
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SECTION-2 | GENERAL KNOWLEDGE | 50 QUESTIONS

Q26 Which region in Andhra Pradesh is actively 'I;: Q26 g wan &1 FrafalRes 4 9 91w 8=

engaged in the production of petroleum? . wiby w9 @ 1gfaan & S 4@ EEy
(A) Mahanadi Basin 7

(B) Krishna Godavari Basin (A) AEFE aftE

(C) Narmada Basin (B) @ MErad afes

(D) Cauvery Basin (C) i1 d4fEm

(D) FEY AF/=

027 Mount Elbrus, one of the highest peaks in Q27 ?}3"]11 & ooy ggo Bl 4 9 S gae

Europe, issituated in . vy @El fem 87
(A) Germany (A) T

(B) Switzerland (B) Reeurds
(C) Russia (C) &H

(D) Ukraine (D) g&A

Q28 Which article of the Constitution of India Q28 urd #wRaE & F=faleg 4 |4 @9

deals with *equality before law*? a1 apee s e arf a8
(A) 14 | WEETET O WA 87
(B) 13 (A) 14
(C) 17 (B) 13
(D) 26 {C) 17
(D) 26
LM-B 13 SERIES-B-E




Q29 Provisions regarding the promotion of

Q30

Q31

international peace and secunity are outlined
asapartof _____ ofthe Constitution of
India.

(A) Fundamental Rights

(B) Directive Principles of State Policy

(C) Fundamental Duties

(D) The States

Who is the appointing authority of the
Governor of a State in India?

(A) Prime Minister of India

(B) Chief Minister of the concerned state
(C) The President of India

(D) The Central Cabinet headed by the

Prime Minister of India

Who was appointed as the National Security
Advisorof Indiaon 31 May 2019?

(A) MK Narayanan

(B) Brajesh Mishra

(C) Ajit Doval

(D) IN Dixit

LYETS

Q29 sawrgla wifa 3R [ @ agmEy 9

A datw waus, sl w6 @
Fr=iferfaa # 9 fvad v wm & w0 4
fcaftgn &7

(A) #ifers arferasre

(B) vog & ify Pdwws fagha

(C) #iferw wedan

(D) gt

" # B8 vsa @ vyonaa & Frgfam

witsr Frefafea 4 @ o om &2

(A) AINT B ST

(B) wafe wra & )

(C) WRa & wszufy

(D) 9a & Y= 91 anaperen § $d
Hied

31 58 2019 & WG @ U iRl
waHR & w9 4 50 Py
g7

(A) TS, AR

(B) "oty fam

(C) 3oita Sne

(D) wiy= i

SERIES-B-E



Q32 Which of the following stalements is
INCORRECT?
(A) The procedure for impeachment of the
President has been described in Article
61 of the Constitution of India.
(B) Impeachment motion can be presented
in any house of the Parliament
(C) Impeachment resolution can be passed
by & majority of not less than two-thirds
of the total membership of the House.
(D) The President could be impeached for
violation of national security,
Q33 Whowas appointed as the Finance Minister
of Indiaon 31 May 20197
(A) ArunJaitley
(B) Piyush Goyal

(C) Nirmala Sitharaman

(D) Rajnath Singh

034 According to a G-20 surveillance note,
prepared by IMF in June 2019, India’s
economy isexpectedtogrow __ in
2019

(A) 6.3%

B) 7.3%

(C) 8.3%

D) 9.3%

LM-B

15

Q33

Q34

Freferfiaa § 9 @ W sus Tea #7

(A) e @ Wi & s 619
weafa @ wsfva @ ufa &
aviA fwan mar &)

(B) =wfia g e & sl 0

e W Ul @ o wea

(C) wEifidnT wwimg, e & He Hew
& a1-foverd 9 aifoes agwa | oifta
& o wwar 8 )

(D) Iufty W) U g & SoouA &
fore smifivaivr s o w@ar @ |

31 % 2019 % WA @ AR @ wu i
fyerfafaa § @ 9 Fyga B
on?

(A) 36 el

(B) drgu TaE

(C) Fean Hremeon

(D) wrore e

o 2019 % A€ Y. (IMF) g1 dar
of-20 P Rl @ s, 20199
WA @ sefaraven @ faee winm aga
H THG B7

(A) 6.3%

B) 73%

(C) 83%

(D) 9.3%
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o
el
=
0

(35 Mahila Shakti Kendra (MSK) under the
Umbrella Scheme Pradhan Mantri Mahila
Shashaktikaran Yojana (PMMSY) has been
approved for implementation during .
(A) 2016-17
(B) 2018-19
(C) 2017-18

(D) 2015-16

Q36 MahatmaGandhiwasagainst__ of
India.
(A) slow industrialisation
(B) rapid industrialisation
(C) British mode of industrialisation

(D) American mode of industrialisation

Q37 Whoamong the following was swom in as
Chief Minister of Arunachal Pradesh on 30"
May 20197
(A) Jarbom Gamlin
(B) Kalikho Pul
(C) Pema Khandu
(D) Nabam Tuki

16

035

Q36

Q37

vaEAl afddr anfaasyor gt ‘
(PMMSY) & afmfa wfder ofdm @
(MSK) &t Fr=ifoRea 4 9 fra safr @
@ praaE @ e aepifea R
Al 8?

(A) 2016-17

(B) 2018-19

(C) 2017-18 '

(D) 2015-16

B M ARa & @ faeg o)
(A) Hg afrenfraitawo

(B) it sMeifrfrewor

(C) afenfiafraver & fafew ey

(D) shenfirefmye 1 afiteh g

fr=fafaa 7 9 fam 30 7€ 2019 &
FHUITTE WeYl B A & WU H Iy
TEY HI?

(A) wrREr fafem

(B) wfcran qya

(C) W @i,

(D) A T
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Q38

Q39

Q40

Which of the following cyclones badly
affected the coastal districts of Odisha in
May 20197

(A) Cyclone Sani

(B) Cyclone Fani

(C) Cyclone Tani

(D) Cyclone Kali

Which one of the following teams won the
Indian Premier League (IPL) trophy, 20197
(A) Kings XI Punjab

(B) Chennai Super Kings

(C) Sunrisers Hyderabad

(D) Mumbai Indians

In May 2019, the Central Government
created a new ministry by merging the
Ministry of Water Resources, River
Development and Ganga Rejuvenation and
the Ministry of Drinking Water and
Sanitation. What is the name of the new
ministry that has been formed as a result of
the merger?

(A) Ministry of Jeevan Shakti

(B) Ministry of Swachcha Ganga

(C) Ministry of Jal-Nadi Vikas

(D) Ministry of Jal Shakti

Q38

Q39

Q40

w§ 2019 ¥, Fr=fafea 7 9 5w awam
1 ifem & odm el &1 @ e
wafae fasar?

(A) WA

(B) wemara W

(C) =aspar il

(D) Fspare Hreit

gfegs difae < apL) 219 2019
frfafas 4 & v dm 3 odl?

(A) & gda dvome

®) ¥ g

(C) W Iga BevIs

(D) ¥ag gfeaw

w§ 2019 % @7 VYA 7 W HHEA, T
e s M FEe wEey v
taore Al W Ay @ ey o
Us 41 ¥Ag w9mar| fawy @
vy @ 41 Sy a9
FHST A T 87

(A) ies wifder s=eg

(B) @5 T HATAY

(C) w4 e Aaraa

(D) wa wfd Haea




Q41

Q42

.043

Which country conferred its highest honor,
the “Nishan Izzudeen’ on Indian Prime
Minister Narendra Modi in June 20197
(A) SriLanka

(B) Maldives

(C) Nepal

(D) lsrael

s famous 49-year-old veteran
Nepali Sherpa who scaled Mount Everest
for the 23" time in May 2019.

(A) Tenzing Sherpa

(B) KamiRita

(C) Appa Sherpa

(D) Phurba Tashi

India is estimated to have produced
million tonnes of food grains (rice and wheat)
during 2018-19.

(A) 18337

(B) 38337

(C) 28337

(D) 48337

LM-B
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Q41

Q42

:

O 2019 H WA WAl e AE)
F1 frafafaa 4 @ e 30 3 s
warea v, T gogde & v
fvar ur?

(A) s

B) AT

(©) o

(D) F9REA

_ Ut wihe 49 affa dafpd
Aurelt dvar € e 5 20199 23 aw
Ade vavee @ worf qft A 8

(A) T =

(B) Tl dran

(C) 3T ¥y

(D) v areh

2018-19 & ENF WRA N1 Ho e
fafegm & a9 (aa iR 1) &
JarEA Y I #1 I 87

(A) 18337

(B) 383.37

(C) 283.37

(D) 48337
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Q44

Q45

Which state produced the largest amount of
rubber in India in the year 2017-18?

(A) Kerala

(B) Andhra Pradesh

(C) Odisha

(D) Kamataka

Which of the following share is contributed
by the Agriculture and allied sector in the
India’s gross domestic products, 20197
(A) 14.39%

(B) 29.73%

(C) 15.87%

(D) 31.46%

What is the child sex ratio of Uttar Pradesh
as per Census report, 20117

(A) 898

B) 912

(C) 916

(D) 902

Q44

Q46

Which of following valleys isNOT situated Q47

in the Himalayan Mountains?
(A) Karewas

(B) Bhagirathi

(C) Kathmandu

(D) Araku

LM-B
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2017-18 % Fy=fofaa F & fve oow A
W W W e Yaw &1 ey far
(A) B

(B) 31 waw

(C) shfEem

(D) FAfe®

WIRE & Wehel ©el, 9eIE, 2019 ¥ P
3 Wag &= g o R witrea wm
@1 drTa W g &7

(A) 14.39%

(B) 29.73%

(C) 15.87%

D) 31.46%

ST ROE 2011 & JIEN, TR WA
W are formrgua @ 27

(A) 898
®) 912
(C) 916
(D) 902

frfafaa 4 € @W @ odl, Raea

wder sjaar 3 Rery 7Y &7
(A) DR
(B) et
(C) wrewig
(D) 3,
SERIES-B-E




Q48

Q49

Q50

LM-B

Who was the first woman Governor of a
state in Independent India?

(A) Sharda Mukherjee

(B) Vijayalakshmi Pandit

(C) MargaretAlwa

(D) Sarojini Naidu

According to IMD World Competitiveness
Rankings, 2019, Indiaranked ____in
world's most competitive economy.

(A) 14%

(B) 24*

(C) 437

D) 51*

Bombay Stock Exchange appointed
__ asits first independent woman
director in May 2019.

(A) Jayshree Vyas

(B) Jayati Ghosh

(C) Rohini Pandey

(D) DevakiJain

BSCER0LS
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Q48

Q50

waa AR A el von @ v wfgen
T S o7

(A) TRET FE

B) faoaast dfea

(C) wrf¥e srean

(D) wRRFT g,

I v E (IMD) fawa wftregaf W 2019
% ar, fave 9 waifte vfaufes
foEer H g A ava A
e wre e 8

(A) 14%

[®) 24*

(€) 437

D) 517

T IR AOR A A 2019 %
& AT W T At Fdue @ e
% Frge faman)
(A) s =
(B) wafr wi
(C) wfevit uig
(D) Zad o=
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Q51

Q52

Q53

Which of the following keyboard shortcuts
displays the Start menu in the Windows
operating system?

(A) Ctrl+Z

(B) Alt+ Spacebar

(C) Citrl+Esc

(D) Alt+ Enter

Who among the following is known as the
*father of computing'?

(A) Charles Babbage

(B) Tim Bemers Lee

(C) Philip Don Estridge

(D) James Gosling

Windows 10 was first released as a preview
on which of the following days?

(A) 1January 2013

(B) 12July2014

(C) 1 October 2014

(D) 12 December 2015

LM-B
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Q51 Fr=fefla #9 2W @ ool ved ag-

Q52

Q53

(@ ¥ vitdee) R ey
@RfET Rieew) % =@ ¥ @ qwid
27

(A) Ctrl+Z

(B) Alt+Spacebar

(C) Ctrl+Esc

(D) Alt+Enter

Prafafia # 9 foa afm &1 sgfen
& WS B WY H W o 87

(A) = &&

B) fem o= o

(C) ofem 2 gligs

(D) o wffE=T

e 10 %1 vedt 1P Eiaaie @ w9 4
frfafea 4 & fra e ol R
ur?

(A) | W ad2013

(B) 12 9ams 2014

(C) 1 3REER 2014
D) 12 ez 2015
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Q54

Q55

Q56

Q57

LM-B

Every year, inwhich of the following districts
of Uttar Pradesh is Bateshwar Mela
organised?

(A) Kanpur

(B) Varanasi

(C) Mathura

(D) Agra

What is the suitable time of sowing the
indigenous variety of cotton (kapas) in Agra
district of Uttar Pradesh?

(A) First fortnight of April

(B) Mid-April

(C) First fortnight of May

(D) Mid-May

As per Census 2011, what is the population
growth percentage of Uttar Pradesh?

(A) 2021%

(B) 2023%

(C) 2030%

D) 2032%

In which of the following districts of Uttar
Pradesh is the Union Government’s opium
factory located? '

(A) Varanasi

(B) Ghazipur

(C) Balia

(D) Kanpur

22

Q54

Q55

Q56

ITRISE

“Q57

R vew @ Frfoftm 4 9 fvw e 4
wft o s2waw den smafom v oman
87

(A) FFg

(B) awmril

(C) w1

(D) 3T

IR WRW P I e F o (wure)
R e @ g @1 Sugwm
Frefafeaa 4 34 @ W &7

(A) IS T YRAT TS

(B) s &1 ma

(C) W& &1 Bl TEWATH!

(D) W &1 7

ad 2011 B SFFIVET B ITER, SR
WU B e o1 gy wftra @ &2
(A) 2021%
(B) 2023%
(C) 2030%
D) 2032%

R wew & Fraforfe # O fva R 4
TR WER B iy A dad) Ree &2
(A) TR

B) Tfge
(C) afer

(D) =FgR
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Q58

Q59

Q60

In which of the following cities of Uttar
Pradesh is Modern Coach Factory, a rail
coach manufacturing unit of the Indian
Railways, located?

(A) Raebareli

(B) Mughalsarai

(C) Prayagraj (Allahabad )

(D) Lucknow

Kashi is a famous Indian pilgrimage centre
situated in Uttar Pradesh. It is located on the
banksofthe  river.

(A) Gomti

(B) Saryu

(C) Yamuna

(D) Ganga

In which of the following cities of Utiar
Pradesh is the Government College of Arts
and Crafts located?

(A) Lucknow

(B) Kanpur

(C) Varanasi

(D) Gorakhpur

Q58

Q59

51208358

IR waw @ Freforfan § @ e e i
wrdia ¥ A v Pt g, smfe
Y& W dag) (e e dha) R 87
(A) TEY

(B) o™

(C) WarRTS (§TETaTE)

D) wETE

TR v ¥ frem T ve wfig wwdia
il @w &1 us Freafafae 4 § e ad
@ e e 87

(A) i

B) W

(C) ag
(D) T

TR wew @ Freforfas A 9 e wev i

T Fe o ey seiftqaea (et
Pferr aife andw v wvew) R #?
(A) TETS
(B) BrIg
(C) =

(D) TREgR
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Q62

LM-B

Lucknow in Uttar Pradesh is famous for
which of the following handloom production
centres?

(A) Khariprinting

(B) Saris

(C) Chikan work

(D) Brocade fabric

Firozabad, a city in Uttar Pradesh, is famous
for which of the following industries?

(A) Saris

(B) Cement

(C) Glass

(D) Locks

Who among the following did NOT provide
assistance to the British in suppressing the
revolt of 18577

(A) Scindia of Gwalior

(B) Begum Hazrat Mahal of Awadh

(C) Nizam of Hyderabad

(D) Sikander Begum of Bhopal

Q61 TR YW & AETS weY Fr=faRea ¥

Q62

W o susvEn (BeoH) Sed =i @
ferg wfg 82

(A) & fifer

(B) |

(C) Fermper @

D) 99 & Hu

TR gau & wex Womre, Frefafea
# R fave v @ fore wig &7

(A) W

B) drfe

(€) o1

(D) T

Frefafta 4 @ f5em 1857 @ fge 1
A & oy Sl ) were ware el
#?

(A) Taferar & Riftvn

(B) ¥@a i 479 woRa wEd

(C) BawarE & fam

(D) #re & fewey ™
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Q64 Thedecisiontoeffectthe Partitionof Bengal Q64 Rw wwer s 3 99 & Ao &1

Q67

was announced by the Government of British
Indiaon____ .

(A) 7August 1905

(B) 19 July 1905

(C) 16 October 1905

(D) 1 September 1905

Who was the leader of the Ghadar
Movement?

(A) HarDayal

(B) Bhagat Singh

(C) Madam Cama

(D) Shyamji Krishna Verma

Who started the Mahad Satyagraha in

Maharashtra in 19277

(A) Mahatma Gandhi

(B) Sardar Vallabhbhai Patel
(C) Dr.BR Ambedkar

(D) Jyotiba Phule

Which of the following Acts was based on
the Montagu-Chelmsford Report?

(A) Government of India Act, 1892

(B) Government of India Act, 1909

(C) Government of India Act, 1919

(D) Government of India Act, 1935

LM-B
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Q65

Q67

A FA 3 Fiofa A don e @ A9
(A) 7 @rTET 1905
B) 199aE 1905

(C) 16 rR@ER 1905
(D) 1 Reiaw 1905

e HIREA B A B o7
(A) BY SO

(B) W s

(C) #s% wr

(D) warsh For

1927 % wewrs; F wers weaws fruA
s v ar?

(A) W T

(B) WYER TeTIE 9o

(C) ¥t #. IR Asaw

(D) =hfvar ga

frefafaa 4 ¥ @9 wr aftfam
WRg-Awnrd RaE ov amnfRe ur?
(A) e wvar aftfam, 1892
(B) e wveR AR, 1909
(C) wva wwar JRFrm, 1919
(D) wwa wwer sfafam, 1935
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government under the leadership of
Jawaharlal Nehru?

(A) 2 September 1946

(B) 14 September 1946

(C) 24 October 1946

(D) 14 November 1946

Who was the chairman of Boundary
Commission for India and Pakistan which
was announced by Lord Mountbatten in
19477

(A) Lord Curzon

(B) Lord Wavell

(C) ClementAtlee

(D) CyrilRadcliffe

The Iatitudinal extentof indinis from____
nortto_- __ north.

(A) 8°2°;37° 4"

®B) 8°4’:37°6

(©) 8°7;37°9

D) 83';37°5°

Q70

Q71 Which one of the following rivers does NOT
fall in the Gulf of Khambhat?

(A) Mahi

(B) Sabarmati

(C) Koyna

(D) Tapi

LM-B

Q68 TETERETE B @ g ¥ i @,

Q70

S121E358

Q71

safs wwer # $a e gd 499
(A) 2 foeav 1946

(B) 14 feiaw 1946

(C) 24 A 1946

(D) 14 a4 1946

1947 # @fé wdedes g Mifta wRa
IR gifewm & fow dwr ammr @
e B A7

(A) =18 Fof

B) e e

(C) Feinie geel

(D) fafite Yefaw

AR HT A AR SR W
T as B

(A) 8°2°;37°4

(B) 8°4';37°6

©) 87 ;37°9

(D) 8°3';37°5"

frafafag % @ @9 @ 96 @wa
g W el fad 87

(A) T

(B) HEwH

(C) @

D) @
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Qn

Q73

Q74

Q75

Which is the highest point of the Meghalaya
Plateau?

(A) Khasi-Jaintia Hills

(B) GaroHills

(C) MikirHills

(D) Shillong Peak

As per census report of 2011, which of the
following states does NOT have tribal
population?

(A) Haryana

(B) Goa

(©) Gujarat

(D) Bihar

The Bhutia tribe, widely known for their
traditional grandeur, art and cuisine are found
in state.

(A) Sikkim

(B) Nagaland

(C) Arunachal Pradesh

(D) Tripura

Which one of the following states has the
highest population density according to the
2011 Census report?

(A) West Bengal

(B) Kerala

(C) Uttar Pradesh

(D) Bihar

LM-B
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Q72 uIa BR N wad oA 98 A @

#?

(A) @rfl-oriftar it
(B) TR ysifeat

(C) fafse ymfeit

(D) frei a

Q73 2011 # wvEn RuiE @ aEw,

[

frafafen 4 9 e v % swond
ST 8 &7

(A) eftaen #

(B) war #

(C) Torm ¥
(D) faew %

Q74 YR wwonfy, W sl uRufe warm,

ol AR ym-deh B e s s R
ot ot &, e wow F o o 87
(A) fafaem 4

(B) s #

(C) Irvvmad waw %

©) g 4

Q75 2011 & wvEm Ruld @ i,

5;

Frafafa # @ few wou § e
uica waifte 87

(A) wftes dme

(B) ¥

(ORI

(D) faer



Q76

Q77

Q78

LM-B

SECTION-3 | GENERALSCIENCE / ARITHMETIC | 50 QUESTIONS

X and Y are two compounds formed by the
combination of silver and copper in the ratio
of4:3and 4 : 7 respectively. Equal quantities
of these two compounds are melted and
mixed to form a new metal Z. Now metal Z
contains silver and copper in the ratio of:
(A) 41:33

(B) 41:36

(C) 33:41

(D) 36:41

If Raju eamns 20% more than Vijay, by what
percentage is Vijay's eamning less than that
of Raju?

(A) 25%

(B)
(©)

(D)

A mobile was sold by two mobile sellers at
a total gain of 45%. If the first seller sold it
at a gain of 25%, then how much gain
percentage did the second seller achieve?
(A) 20%

(B) 18%

(€) 16%

D) 14%

51098358
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Q76

Q77

Q78

X 3R Y 2 dfre & 5w 4:3 3R
4:7% Frqum ¥ wid) ol e & Fser |
T &1 g9 < At & wEE A @
ey s 58 fw-erg Z @l &
IRl &1 3, fs-erg 2 % =id) e @il
& IR T B

(A) 41:33

(B) 41:36

(C) 33:41

(D) 36:41

af% v, R | 20% s sm afka
oYl &, o Ry g aftia sm w9
g aiffa ama &t o A e witver
a9 &7
(A) 25%

50

T%

40
3%

20
3%

B)
©)

(D)

U Aarge, < e Reawi R 45%
@ {el @ Y a1 | 3 ged R
A W 25% @ @M W & 8, o g

fagpon 2 v wive @M e fsan?
(A) 20%
(B) 18%
(©) 16%
D) 14%
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Q79

Q80

Q81

Q82

A father and son working together can finish
a piece of work in 24 days. If, for the last 6
days, the father alone works, then the work
is finished in 26 days. In how many days
can the son alone finish the work?

(A) 72

B) 70

(C€) 68

(D) 66

X, Y and Z completed a piece of work
costing T 4,480, X worked for 4 days, Y
worked for 6 days and Z worked for 8 days.
If their daily wagesareinthe ratio 5:6: 7,
how much amount will be received by X?
(A) T 80O

(B) 1,200

(C) T2,400

(D) 73,000

A train leaves Hyderabad at 7 am and
reaches Vijayawada at 11 am. Another train
leaves Vijayawada 9 am and reaches
Hyderabad 12.30 pm. At what time would
the two trains cross each other?

(A) 9:50am

B) 9:56am

(C) 10:02am

(D) 10:08 am

A tank 9 m long, 4 m wide and (1/3) m deep
isdug ina field 24 m long and 14 m wide. If
earth dug out is evenly spread out over the
remaining field, the level of the field will rise
by:

(A) 4.5cm

(B) Scm

(C) 3.5cm

(D) 4cm

LM-B
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Q79 & R 3l y= fieex e ol 1 24

Q80

BOERELLS

Q81

Q82

&1 3 oo o wad &) AR, aiftm 6 Ra
foem st @l wven & ot o 26 R
¥ T 81 o & | g3 ardel fasa R
% & Q1 BN wEar 87

(A) 12

(B) 70

() 68

(D) 66

X, Y 3R Z 9 24,480 " @ve a1 '
w1 qof fasar | X+ 4 f2s wrd fvan, Y=
6w alw 29 8 fem = fsr| afe
T AT A S:6: 7B AU A B,
i X &1 ferh av—afdr fenf?

A) T 800

(B) ¥ 1,200

(C) T2,400

(D) 23,000

T Y Gas 7 a9 EI0Ag Wy
wdl & 3R gaE 11 79 Roaars vdad
¢ 3= YETd Regare @ geE 9
a9 g B # 3R S 1230 79
Bazmre wimd ) < Yoy
T 3 Fu Wy ar FEP

(A) 9% 9:50W

(B) |aE 9:56 7%

(C) qa® 10:02 7%

(D) | 10:08 W

24med AR dmAS S AT A 9m
war, 4 m=er s (1/3) m TeY UF EF
e T | oft W g i @ v
w9 ¥ 9y o A B o, o @ A
dard el ag o

(A) 4.5¢cm

(B) 5em

(C) 3.5em

(D) 4cm
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Q83

Q84

Q85

Atap can fill a tank in 8 h. After half of the
tank is filled, four more similar taps are
opened. What is the total time taken to fill
the tank completely?

(A) 4h46min

(B) 4h48min

(C) 4h38 min

(D) 4h30min

01-01-2012 was a Sunday. What day of
the week was on 01-01-2013?

(A) Tuesday

(B) Wednesday

(C) Thursday

(D) Friday

Read the following statements and select the
correct option.

1. In60min, the minute hand gains
55 min on the hour hand.

2. Aclock is started at noon. The angle
traced by the hour hand in
5h 10 min=150°,

(A) Only statement 1 is true
(B) Only statement 2 is true
(C) Both the statements are false.
(D) Both the statements are true.

Inatriangle ABC, if £ A=90° then:
(A) SinA=SinB

(B) SinA=-—SinB

(C) SinA=CosB

(D) SinA=—CosB

LM-B
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Q83

QB84

Q85

Q86

TF d 8 He # v € B W T 8|
I E W T P AE, I/ IR D
FR A ¥9F T @ W &1 6 @)
wofer WA | ge e Wi @
(A) 462 46 e

(B) 442 48 e

(C) 442 38 fire

(D) 4 w2 30 fiFre

fa=tia 01-01-2012 & faaw a1 A=
01-01-2013 = T8 &1 B & &7 o
(A) HirEar

(B) FEaR

(C) o

(D) gmwar

frr=ifeftr suet @1 @ siv v R
g

1. 60 fime # fame @ g o2 & g
W 55 frre amt ol 2

% g8 TUE @ WG A @
urdhh &) 562 10 fvre % 2@ Y |
BT 14T T BT 150° 8|

2.

(A) @aa @ | v 8§
B) Faw TUF 299 B
(©) = wu= s )
(D) @AW U= T &)

o ABCH af £A=90° 8 o wfh
fawe gt

(A) SinA=SinB

(B) SinA=—SinB

(C) SinA=CosB

(D) SinA=—CosB




Q87

b . o

| Q89

Ifx* = 3x + 1 =0, then the value of
2+ x+(1/x) + (1) will be:

A) 7

(B) 8

< 9

(D) 10

Angles A, B and C of a triangle are in
arithmetic progression. AM is perpendicular
to BC. Find the value of BM/AB,

(A) 1/4

B) 13

©) 12

(D) 3/4

10 is the mean of a set of 6 observations
and 5 is the mean of a set of 4 observations.
The mean of the combined set is:

(A) 7.5

(B) 8

(C) 85

D) 9

2
If20% of A=035of B= 3 of C, then

A:B:Cisequalto:
(A) 14:8:7
B) 12:8:7
(C) 11:6:5
(D) 13:8:5

BSERLLLS

15 litres of a mixture of milk and water
contains 5% water. How much pure milk
should be mixed with it to get a mixture
containing 2% water?

(A) 20.5 litres

(B) 21 litres

(C) 21.5 litres

(D) 22.5 litres

LM-B

Q87

Q88

Q89

IR~ 3x+1=08, @ 2+x+(1x) +
(1/x%) 1 99 2 8rm?

(A) 7

(B) 8

© 9

(D) 10

fad P & @9 v A, Balv C
wiee 4 A § afv AM, BC & owaaw
% | BM/AB &1 |9 1 BPT?

(A) 1/4

(B) 13

(©) 12

(D) 3/4

6 Wl & weg &1 Ay 10 & 3w 4
twvit @ wyeg o W S ) Rbm
weal @1 A T w8

(A) 7.5

®) 8

(C) 85

D) 9

2
afg A®1 20%=B &1 0.35=C&H 3 [

Tl A:B:Cfas waged g
(A) 14:8:7
(B) 12:8:7
(©) 11:6:5
(D) 13:8:5

15 ofte qu aiv oia & fisyor 3 5% orer
1 2% el arer P e B B R
o e g <o famn s aifdg?
(A) 20.5 R
(B) 21 #ex
(C) 21.5¢eR
(D) 22.5 R




Q92 A and B together can complete a task in 9

Q93

days, whereas B and C together can
complete itin 15 days. All three can complete

the task in 6 days. In how many days will A
and C together complete the task?
1
(A) 67
B) 6

4
(C) ﬁ;

6=
D) 65

Two pipes, A and B, can fill a cistern in 36
min and 45 min respectively. Both the pipes
are opened together in the cistern, A fter how

much time should A be closed so that the

tank is full in 25 min?
(A) 13min
(B) 14min
(C) 15min
(D) 16min

Ifa* + b*=a?, then &* + b* is equal to ;
(A) 0

B) 1

(C) &+

(D) &b+ ab?
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Q92 A3 Bfw®Y ua aw 9 fal # gof v

HERL60G

waa € e Bk C fast @@ 15
&t # of 3= wad 8 &9 0w
e ol 6 R F gof v vt 1 A
iR C 1@ we e a8 & fses
fest # qof %

1
® 63
(B) 6

4
© 63

3
@) 65

3 UEY AN BUw gs (i) &
e 36 e afiv 45 fire 3 W waad
&1 37 21 gt Y e (Rieel) 4 vo
e e e 8 | A @) e ae aw
4T faman i wifde @5 g8 (Rise) 25
foere ¥ W wmg?

(A) 13 fame

®B) 14 e

(C) 15

D) 16fme

MR a+b=a & W+ b oD
Hged B?

(A) 0

®) 1

€ &+PF

D) @b+ ab?
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Q95 Which of the following organisms is a =»Q95 Ffafm i @ 2 w1 o s SEfua

Q96

Q97

Q98

colonial form?
(A) Amoeba
(B) Chlamydomonas

(C) Polysiphonia
(D) Volvox

Identify the INCORRECT statement about

class insecta from the options given below.

(A) It has three pairs of legs.

(B) Ithas joined legs.

(C) Ithas one pair of legs in each body
segment.

(D) Ithas legs present in thoracic segments.

Ultra filtration and reabsorption process
takes place during the:

(A) circulation of blood in vessels

(B) transport of gases through blood

(C) excretion and urine formation

(D) exchange of gases during respiration

How much percentage of fresh water is
available on earth?

(A) 30%

(B) 03%

(C) 0.3%

(D) 0.17%

LM-B
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Q96

097

& wWEy § vear 27
(A) sdrar

(B) FAWREHATH
(C) i
(D) diedian

A A v fawet 4 @ of g0 (@)

W e A WA FUA D ysEE B

(A) &89 o= WSl 3w ag w e &)

(B) ¥@ &R angw A 92 =R &)

(C) §1% Welld THN—5s 3 UF aa
i & &)

(D) &7 a2y wst 3 i Raws
wa &)

affay e i graraeimor wfdar fea

dwE e &7

(A) TR 3§ a0 HOR & IRE

(B) & & weam | AT @ oRags @
CARIE

(C) wwearT v 3= Fmior & s

(D) o84 & E 6 & g
@ dvm

qedf ¥ fe witrem aron e Suee
7

(A) 30%

(B) 03%

(C) 03%

(D) 0.17%
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Q99 Which of the following does NOT
contribute to the pollution in water body”
(A) Heavymetal
(B) Ozone
(C) Microplastics
(D) Pesticide

Q100 Whichofthe following is NOT a greenhouse
gas?
(A) Water vapour
(B) Nitrous oxide
(C) Ozone
(D) Carbon monoxide
Q101 Methyl orange indicator changes its colour
at which pH value range?
(A) 3.1-44
(B) 1.0-3.1
(C) 44-58
(D) 58-7.0
Q102 Pharma vision 2020 is a programme 10
develop India as leader in:
(A) Drug manufactuning
(B) Pharmaceutical research
(C) Providing human resource in
pharmaceuticals
(D) Drugdiscovery

Q103 Inwhich year Capt. Rakesh Sharma trvelled
to space in a Soviet space programme?
(A) 1981
(B) 1982
(C) 1983
(D) 1984

LM-B
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099 Fy=fafee d & @, wella Fom 3§
B1arel weuvn # ArTET Er A s’
(A) R 9T
(B) T
(C) aEmraiead
(D) BIEHATINS

Q100 Frafafaa 4 @ qo e feea Tu
T8 87
(A) WA 9
(B) TETH AFHES
(C) HTaH
(D) ®WEA AFRitETES

fherrze siffe wWaes 5 pH s don
UY U1 O agerar &7

(A) 3.1-44

(B) 1.0-3.1

(C) 44-58

(D) 5.8-7.0

Q101

Q102 st A= 2020 g F e s
w1 ¥ fAefe &= =1 e arden &7
(A) aimfey fior
(B) 3ufer arpeem
(C) afufert A wrEra WA WETH B
(D) affufey @ Wi

Q103 @ waw i 3 frw od A vs wifdaa
Sicfees wrdmw ¥ afefE o arEn @ 397
(A) 1981
(B) 1982
(C) 1983
(D) 1984
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Q104 The Goiter disease is caused due to the
hypofunction of:
(A) thyroid
(B) parathyroid
(C) thymus
(D) pituitary

Q105 The working principle of a transformer is:
(A) Self-induction
(B) Mutual induction
(C) Electromagnetic induction
(D) Lorentz Law

Q106 The wave nature of electrons was first
experimentally established by:
(A) Photoelectric effect
(B) Double slit experiment
(€) Davisson and Germer experiment
(D) Compton effect

Q107 Which is the causal organism of small pox?
(A) Rubellavirus
(B) Variola virus
(C) Ebola virus
(D) Cytomegalo virus

Q108 The peptide bond is formed between:
(A) Amino group and hydroxyl group
(B) Two hydroxyl groups
(€) Amino group and carboxyl group
(D) Amino group and carbonyl group

Q109 Sickle cell anemia is caused due to the:
(A) deficiency of folic acid
(B) Abnormal levels of haemoglobin
(C) deficiency of iron
(D) production of less number of RBCs

LM-B
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Q104 Huy (ifges) A fread acufisgar @
&R B &7
(A) dag ufy (uradiz=) &
(B) Bvd ufer (Gvemavize) 9
(C) area ufy (amgaw) @t

(D) v ufdr (freaed) #)

Q105 uRads (grawrR) e R w o
Hdr #7?
(A) Fa@-y3or
(B) uwwfle gior
(C) Rega-gaaia wvr
(D) & &1 s

Q106 FAT & o¥n wHfy = wafre vy 9
uEell AR f&6s g fag fsar mar ar
(A) war fagga wim gw
B) R-Yafon (saa feee) wam g
(C) BRAFT 3l oz Wt g
(D) ®IVEs ywE gRT

Q107 @ (Wife iew) &1 JrEwE g @
ar #?
(A) e fammy
(B) AR fagmy
(C) e
(D) WgErrTE faro

Q108 Yergs au w1 fFmfy fras §i g &2
(A) 31 E 3R RS wiE
(B) @1 ergifvre wig
(C) 3 wE 3R Pl
(D) 31 g ofR ratfier T

Q109 Bfrar #1RreT vamreTar (Riea A

i) fswd s g &7

(A) Bl and & &0 & s

(B) drirenfas & srarg wl @ S

(C) &E @ &0 & FRY

(D) & wfeREt # oafy (wrd)
i a0 B Fny
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responsible for:

(A) energyonly

(B) energy and growth
(C) growthand repair
(D) growthonly

The Indian Institute of Chemical Technology
i5 situated in:

(A) Ahmedabad

(B) Prayagraj (Allahabad)

(C) Hyderabad

(D) Kolkata

Which of the following microorganisms
causes dysentery?

(A) Salmonella

(B) Shigella

(C) Leishmania

(D) Plasmodium

The study of all the factors that are
responsible for the appearance of a particular
discase is called:

(A) Actiology

(B) Epidemic

(C) Endemic

(D) Epidemiology

LM-B
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Q110 The protein component of food diet is mainly Q110 B9 9= MR &1 WeH uedh qEd

w9 ¥ fwd foe gowerd 27
(A) Fad FHot & farg

(B) Fut 3 gfEy & fow
(C) g afr wwwm & forg
(D) daa gl & fay

Areta vt dhanfie) wwe (§fsaa
gRIeye i dfea cFiain) &
e 287

(A) SEAIETE

(B) VAT (§TRIETE)

(C) gavmmE

(D) FIASHT

Q112 varfea (dd) Prafefaa A8 @19 2

wolla @& BT BT 82
(A) AT

) REUGI

(C) @rerAfan

(D) wirfEan

I W FRE! & G FG1 Heda
il U fad 9 & waes @ fay awved
BRI 87

(A) vfearsrsh

(B) ultefis

(C) vefm

(D) cfusfarioh
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Q114 Why is immunisation against common cold

NOT very effective?

(A) No vaccine against common cold has
been developed.

(B) Common cold occurs due to climatic
conditions,

(C) A large number of strains of thinovirus
is present thereby making immunisation
ineffective.

(D) The causal organism for common cold
has not been identified till now.

Q115 The Nobel Prize for 2018 in the area of

Physics has been awarded for the work in
the area of:

(A) Laserphysics

(B) Black hole

(C) Magnetic resonance

(D) Gravitational wave

Q116 Which ofthe following food items would

have highest per-gram calorific value?
(A) Ghee
(B) Maize
(C) Rice
(D) Meat

Q117 Ultrasound waves are NOT used for which

of the following purposes?

(A) Tolocate its prey by a bat

(B) To know the depth of sea bed by a

ship

(C) Todiagnose defect in internal organs
of human body

(D) To detect aeroplane in any air space

LM-B

Q14

BOTRITTI

Q115

Q116

Qu7

37

W wdl-gam @ faeg e

Iy ward @t A g 27

(A) " wd-gam @ feg &g W
a1l fasfa =8 5 man 8

(B) W Wl werary et
& HRY BT B

(C) &9 a7 wgaEvy @ fafiss
R fdemr e & o Serse
@ HYAET a2 &

(D) T HE-geE & o e
oila @ uEu 3@ a6 T8 g 8

N & &3 7 2018 F1 AW EHR
freifafaa & 9 g 83 9 fsr v &
& forg fam wan 82

(A) o feah & foro

(B) @@= 81a & farg

(C) gadra 3gme & fag

(D) oearayor a9 @ g

Frevfefia # 9 fow wme gerd 4 awrm
ufty wm S 7= B 22

(A) H #

(B) wam1 ¥

(C) aa 9

(D) = H

fr=faftm % 4 f5a sgw & oy e

ol (regTardE dod) &1 wa T

wren 87

(A) T9MES BT 39+ R &1 e
FTAT

(B) Sd—UI ERT WHE &1 T8 A e
S T

(C) wrFa ¥R & yiaf¥s st 4 gt &1
e &

(D) et &5 A SIS Tar T
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Q118 Identify the INCORRECT statement about
water cycle from the options given below
(A) Evaporation of water facilitates cloud

formation.

(B) Water vapour comes in atmosphere

through transpiration only.

(€)

(D)

Melting of snow is a part of water cycle.
Sunlight is also responsible for

evaporation of water.

Q119 Count of coliform bacteria provides an idea
of
(A) E. coliinfection in blood
(B) presenceof E coliin intestine
(C) microbial contamination in river water
(D) microbial contamination in packaged
food

Q120 Solvethe following

42 —2(25+16+4x3 -4 x H)+5=2 %
(A) -5 -

(B) 4
(C) -4
(D) 5

If 1.5a =025 then limd the value of
(3a-5b) 4

{3a+5h}_ﬁ'
(A) 1

(B) -1

(C) 2

(D) -2

Q121

LM-B 38

Q118 i f&r v e 4 @ aw a6 @

AT | Wold aA @ gEdE @i |

(A) 919 & il A argdl & FEo
BT 2

(B) Wi 919 Hiael dreiTeeaie & A
¥ # agHsa i o &)

(C) & &1 e Giel a@ &1 b wi
2l

(D) oie @ amfiawe @ fav wd @
gaore A aove gl &)

Q119 Hreire Shamplt @ wen fF=fafas
A 3 f&ad an A 0B A war S
87
(A) Yo W & @land & daam
B) = A § sl o auftafy
(C) =&t & el A yearofid) wguor
(D) fEamag Wi i gesrohdt wHguor

Q120 Fe=ifaftaa & wa o¥ |

42 -2(25+16+4x3 -4 x 4)+5=2
(A) -5

(B) 4

(C) -4

(D) §

Q121 T} 1 5qa=02p & @

(Ga-5b) 4
(Ga+5b) 27
(A) 1

B) -1

(C) 2

(D) -2

W W T R
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(2122 The product of the LCM and HCF of two
positive numbers is 72 and the difference
between these numbers is 6. The sum ofthe
numbers is:

(A) 6

(B) 12
(C) 18
D) 24

Q123 Solvethe following.

236-3.05+433="
(A) 364
(B) 334
(€) 344
M 333

Q124 If 81 » 647 40™ 5 25V =405,
then what will be the value of a?
(A) 0.5
(B) 0.7
(C) 09
Dy 1

Q125 By which ofthe following largest number
should 2270, 373% and 6677 be divided to %
obtain the same remainder in each case? 3
(A) 1459
(B) 1469
(C) 1479
(D) 1489

LM-B 39

Q122 & gcAd WA & FHTH wauadS
(LCM) 3 weeH HHad® (HCEF) #1
TUEwe 728 3R g7 wEnsi i 6 &
TR € | SR & A @ s
(A) 6
(B) 12
(C) 18
(D) 24

Q123 f=fafaa & &a &9

236-3.05+433=2
(A) 3.64
(B) 334
(€) 344
(D) 333

Q124 afg 82 » 64 x 40™ x 25" =40°2, W a
&1 WA F B
(A) 0.5
(B) 0.7
(C) 0.9
(D) 1

Q125 ues Reify 3 wigew 9w wra & @
fore vl 2270, 3739 3R 6677 @Y
Freferiaa # ¥ fom 9 9 79 §eE=n ¥
fawfora fosam @ anfee?

(A) 1459
(B) 1469
(C) 1479
(D) 1489
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SECTION-4 | GENERAL HINDI | 25 QUESTIONS

Q126 ‘e 3w Haw B — W # Q129 & T aren W g |
W e faemor 87 (A) qiTar
(A) o (B)
(B) oo (C) “qdvrar
(€) ¥R (D) ydvran
(D) &

Q130 wW ¥ vx fad v~ frw aren &

Q27 So #sioig A Wi &y geEw 87
R s w3 @ fag aftm e 9+ (A) Fgare
(A) wif B) FHara
B) w&i (C) T
(€) wd (D) w—afaren
(D) wrd
Q131 ‘wrag fawh an w1 - W wen
QI28 waiffEiwkm®l __ =w o TG &7
| Faeg i ' — R W w1 @ g (A) FTEmRi®
| IUgE e g | (B) weEri®
‘ (A) S=ifa (€) Forw
| (B) Wk (D) wdaarad
! ©) &
(D) fawm
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Q132

Q133

Q134

LM-B

F=fafa # & @ w aeg gg 22

(A) 9% U& 95 & Sugnl ae &)

(B) a8 3R g5 & Hre url G
gl

(C) =% Yad & =il a fiward
B

(D) #Fp™ & =Dt 7 & |

Wam, e aHEd T

A @RI - 9 B 49 H Rea wE
A 39w fvm R smem?

(A) areafawm

(B). v

(C) ifawm

(D) doiw fere

o=t @1 By EAT-HEER & e qan |

(A) ¥ e BT
(B) 98T Siedl—uied! BT
(C) g BT gaHT

(D) &= F1e 1 Her

4

;
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Q135

Q136

Q137

Q138

I8 HE 3N AR A T — il &
apef gt |

(A) #oigd ¥ NEH WG T HA B
(B) @ae Sl |

(C) Y i | |

(D) 3= aiwTa | qgHY BT AT

Al |

angfre B 1ga & wEm B
HET I B?

(A) 3R ged

(B) weig

(C) =i &4

(D) TO¥HY TG

TG & IR P 87
(A) HreheRor 1@

®) v o

(C) e g fRwaw

(D) TO¥ER UHE

HR &1 ORI’ Udhid! & dE@d o
27

(A) SUEe IvE

(B) SHTEER AR

(C) =R s

(D) #Es uDa
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fr=faitaa o &1 g S
IR i By 7o gt (wem e 139 -
141) & 9T €|

ANe g3 R & & ofas @1
e 3R e B, AN B W EAN
T & 3R ofa # 9w @8 @ wa
&Y w1 BT RdwteR 8 | 59 yer
T¥A o1 fF e & Sgwfea s &
Hifrn Fear & oiv ot o o9
Hhear e 8, 98 §9 o8 T AHY
BM @1 ufbar 8| fo ey anfaw
U e T 87 g9 aef # gunf &
mifr @8 & Rred o1 o Saa S
76l &, afes I @1 afwr 8w & | 5w
Tuetey # awy F@7 87 9l $E § W
T WqW B3 | e s Ad
2, o8l ow 5 guef war N =E 8, gw
e & & o °F i @ & el
v fimT @ 99 9w e 9 gl
feemar 2, < gund g¥ w8 g9 g
T YR (& i B ua difEs
FFHA BT T8 &, afew e wltwe
A R o B, ddifs " @l
@i # @ gy wd i @ e
TiEH @Y g9 WHN ATERT B g8 8
o o8 Tun § tEeR & S
a8 Wil Y81 | ard W gd offes @
@ 73 98 Anf § ol ot snifet o
FHST I B Blal €, 3N awEifaw
& =181, afes Wi At 3, wifE w
et & wifdm ofr fafy e & &
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Q139 TuRE A & wyfHa s g

Q140

S51BELTTE

(A) Ngd &1 U g
B) W= @ Frafy

(C) W g9+ 3l W=
(D) = ¥ Hiw

TYRNGT WA FHT FEGU HifAT |

(A) =¥ offg &1 & 719 we A0 8
i it el @1 s 9
A1 g 8, o gnifie & ),
afes Wi gasf a1, wife Wi
ot & wifi o frafy we &
B

AR g9 foarar @ & ofas &1
U e 3R oRg ® ey @
@ral g ST ®, ofiR afa i 9w
dey HI GTE B AT BHNI
fardmerer 2

¥ o f e @ SguiRa
TR DI DI T § A ot
% 9 T ol el 8, 98
Y 8T UF JUEN BN 9 Wi
g

W T919 o9 & &eg @1 @
T 99 U @ witear o aamr
B @ @ O dFT 99 @A
AT TR 8, afes owaET 3w ®
W 8, §9 Sudfer # waw ann &
e, ot 53 & g8 # W
Bl 39 UPR SRiHE @ W@y
sqfa & gear 8 oifs a8
qurf ¥ UHHR E 9| g
A TR JTERYT BT qTE
it 7t Fr Fen g 8

(B)

()

(D)
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Q141

Ql42

Q143

RIS MUY & MR R qaEe
aered @ wiftr ¥ wyw ann @ 87
(A) 9=

(B) =i

(C) Fafa

(D) e

B W @ e gen o
gamEvYr 87

(A) Preeaaras

(B) sifFrreaaras
‘[C]ﬁﬁmﬂ‘ﬂi

(D) W W

TEN, W WeR )
Raer v s & forg i R Rt #
W SugE R g |

(A) FfEA

(B) |

(C) wfiaras

D)

43

Q144 93 & way 7 Pr=fafaa 4 | fsas

Q145

Ql46

(A) Rar-g=
(B) ey
(€) fa g=
(D) ST AT

Prafafea % 9/ Rrw wam st
AN ol § yele e
e anfX B [ B T A e &
(A) v

B) e

(C) ¥frgEen
(D) TRIfET ey

R fam a1 e &2
(A) fef &1

(B) weldg &1

(C) wum avf &

D) =&
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Q148

Q149
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Q147 5= @ & S A gar e | A

Ffead 8. 98 &8d 8
(A) Fegfts @\

(B) FFHS W&

(C) s W@

(D) dfea w&w

g @ wE-fAwe @ e
A) TH+W™
B) g+
C) T+

D) |+ W

wowas by awre &1 Jame &7

(A) TegHy
(B) FHuRY

(C) gEga
(D) 3fET

44

Q150 ‘T Sl A O Wl — A i Y

TR B W oadam f7
(A) gowaras

B) fFrwaras

(C) Freauamas

(D) sfFreeaaras
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Read the following Instructions carefully :

Frafafaa Fdal & = @ o -

1. Ount of the four alternatives for each question, only
one circle for the correct answer is 1o be darkened
completely with Black Ball Point Pen on the OMR
Answer Sheet. The answer once marked is not lisble
to be changed

1. The candidates should ensure Lhat the Answer Sheet
is not folded. Do not make any stray marks on the
Answer Sheet. Do not write your Roll No. anywhere
else except in the specified space in the Answer Sheet.

3. Handle the Test Booklet and Answer Sheet with care,
as under no circumstances (except for discrepancy in
Test Booklet), another set will be provided,

4. The candidates will write the correct Test Booklet
Series as given in the Test Booklet in the Attendance
Sheet.

5. Each candidate must show on demand his / her Admit
Card to the Invigilator

6. No candidate, without special permission of the Center
Superintendent or Invigilator, should leave his / her
scal.

7. The candidates should not leave the Examination Hall
without handing over their Answer Sheet 1o the
Invigilator on duty. Cases where a candidate has not
signed on the Attendance Sheet will be deemed not 1o
have handed over the Answer Sheet and dealt with as
an unfair means case,

8. Use of Pencil/Electronic/Manual Calculator is
prohibited.

9. The candidates are governed by all Rules and
Regulations of the Commission with regard to their
conduct in the Examination Hall, All cases of unfair
means will be dealt with as per Rules and
Regulations of the Commission.

10.Afler Examination is over, candidate has to return his
Answer Sheet to invigilator, Invigilator will hand over
the Candidate’s copy 1o candidste, then only
candidate is allowed to leave the examination hall,
Candidate is only allowed to take Candidate’s copy of
answer sheet.

11. Candidates are not allowed to take Test Booklet with
them. They have to submit the Test Booklet to the

Invigilator afier the exam.

1.

*

e G POEES

yE ue @ fow e i 9w At 4 9
W o @ fov o Ua. IR IR e W
Hae U@ et B f T v e 9 uige
i A W) T IR T Ifea By o F
q% T FEAT A AT wpar &)

el gfifaa w¢ & o vae @ de
7 Y U4 99 W #1% 0 B T el
gt s sEpEEiE SR vEe § Peife
Wi & sfoRew amo=a 3 ol

qden gReesT vd SR UEE # eIHgEd
wan &N, wiie B f oRfafa 4 @ae
g gt 4 o @1 o1 Y g e
gl T4 ST USE 9uae T8 S
Iy |

. e e 3 A T v qRew S

F oiEmell w6 afe § sufefy uas §
forad |

. g0 O Y wa wdeedl, @ srordes

YT WAN UEe fEam |

. IS A HE S & Ay i @

fam v gfemedi s wim 7 B2

. TUTE DT ITEE B AT I = R

fa ofemft s w98 et ofe
feft afenedl - ouRefy o9 W swER
8 U o 78 wEn wnem @ 9w o
TES 6l oo & iR 7% aEfea weE @
HIHEAT HAT ST |

tfaa /gaaiie / swraifon WReas &1
guarr afola 81

. Te B A smerer @ forg odeand s @

o il va Rl g Fafa 8 amfa
A @ W el o Beer I 3
Frst vd Rt & srram g

10.99050 & T Inell OTR OSE o AOhES

@1 efer | srodiee g s @1 o
o &t aaedl wfy /gt 9ft s ag
ot cen v IuRie 8 @ B BieE A
i @ sl | SR e @ st gy
apaelt &) A W @ W @ ey 8

1. 98e @ aavia gharelf ) s gRasr

a6 IFodEs ® dterl gl gden
qfiasr w1 ademeff s aer a9 @
o "ed 21

LM-B

48

SERIES-B-E




